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- 1. The number of values of x satisfying

x :
less than or equal to 100 is

(@ st
) 53
" (©) 55
d 57

2. What is the sum of digits of the least
multiple of 13, which when divided
by 6, 8 and 12 leaves 5, 7 and 11
respectively as the remainders ?

(@ 5
® 6
(c) 7
@ 8

3. A milkman claims to sell milk at its cost
price only. Still he is making a profit of

. of water in the milk. What is the
~.percentage of milk in the mixture ?

200

T
®) 7%
() 80%

(@ %

4. What is \/4+\/4—J4+ 4-
equal to ? '

(a) 3

B-ABVB-O-GPU - A

x+——>50; where x is a natural number

(@ 6

20% since he has mixed some amount
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. The " largest natural nﬁmber ~which

divides every natural number of the form
@ —n)n-2), where n is a natural
number greater than 2 is

. &

® 12

(c) 24

@ 48

. The ‘average of ‘m numbers is n* and

the average of n numbers is m*. The
average of (m +n) numbers is

@ mn
®) i+

(c) mn(m®+ hz)

@ mn(m*+n - mn)

. The digit in the units place of the

resulting number of the expression

(234)!°+ (234)1 s

(@) 6
® 4
@© 2

@ o



https://applink.adda247.com/d/XhqWf9lSap

Addaz4l7

132 Prime

ALL EXAMS, ONE SUBSCRIPTION

—— C——
80,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt

600+ 20,000+ Previous 500%
Exam Covered Year Papers Refund

ATTEMPT FREE MOCK NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

Addai247

1. x+M>50 &Y, Sef x 10097 100 F7

WW% F@E?ﬁmﬁx%mﬁ
6 gem W1 R ?
(@ 51
() 53
i - (e) 55
. @ 57
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200
(a) 3

" b) 7%
(c) 80%
250
d
(Y] 3

4. \/4+-3/4—«/4+: 4—
! o e g 7
@ 3

- »cb)d_l—:;”lv

%

%

73R 11 JvwT FEQ T, maﬁemvﬂm :

@ 0

. (7 —n)(n-2), & n 2%@@%@;&

%,%.maﬁmaﬁwaﬁﬁmﬁa'
FH AT FgaH QUi H A R 7

@@ 6

CRE

(§) 24

@ 48

6. m FENA F M nt ¥ A n Femat
& NG m R | (m+ ) T = SE
il

- (@) mn

(b) m2+n?.

©) mnm*+r?)

() mn(m? + n® — mn)

7. S (234)“’" +(234)"' <y aforet Hen
F @E ¥ W W AF g ?

(@ 6 o

(b) 4
© 2
@ o
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8. If x=+3+4/2, then the value of @ 225m
x3+x+l+i is o | - (b)» 230 m
x x3 - _ ' '
. () 240m
(2) 10V3 |
N (d) 250 m
®) 2043

_ . -
11. A tin of oil was — full. When 6 bottles -

i~ ' S ' of il were taken out from this tin and
@ . ' 4 bottles of oil were poured into it, it

3 ] .
was full. Oil of how many bottles can

, @ 2042 the tin contain ? (All bottles are of ecjuai
volume)
9. The value of . 25
111 I @ 3
x4 ax7 7x10 7 Tex19 -
Ix4 4x7 | & ®) 40
) — . ,
® 19 ' _ '
' d 50
® < a b= 4 y.
19 4 - 12. A number when divided by 7 leaves a
: ' - remainder 3 and the resulting quotient
. when divided by 11 leaves a remainder 6.
© 8 - . If the same number when divided
' 19 . ' - o by 11 leaves a remainder m and the
' resulting - quotient when divided by
, N 7 leaves a remainder n. What are the
d 9 SRR values of m and n respectively ?°
@ | valves
(@ 1and 4
10. Two trains are moving in the same ' ® 4and 1
direction at 1-5 km/minute and 60 km/ ‘
hour respectively. A man in the faster _ : _
train observes that it takes 27 seconds to - €) 3and6
cross the slower train. The length of the , .
slower train is ‘ | ' " (d) .6 and 3
' 'B-ABVB-O-GPU -A 4
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8.4 x=3+42, x3‘+x+l+%v H
X X

a8 ?

@ 103

@ =

L@ =

) 2

10.

) 2073

© 10v2

(d | 2012

-1+1+1++1

1x4 4x7 7x10
A AT e ?

16x19

© %

qr Yamfeat éﬁ#&i: ’1-5‘ km /fwe aﬁz-}

60 km /¥r @ wwW fewm A W @ €

I wfy aret @ § uw =R @ @

5 o Ry e e FUR @ #

27 ¥ T & | efielt TRy A ey

. TR T8 ?

_',11;
| _ﬁirﬁaiaa‘aﬁﬁm--waﬁ?mﬁ

(a) 225m

(b) '230m'

(c) 240m
(d 250m

éa‘qfrqaﬁﬁw%mgmmlﬁﬁ@ ‘
43w 3 g TR T S W
a1 | foed # fr A A M EHEA R 7
(Tt ST H AFTT A B)

@) 35

‘(b) 40

- (© 45

12.

@ 50

et wem @ aft 7@ fnf R wmg

@ 3 Awwa s R, oK AR aRomd

e A 118 Fref fea st 6

JvEa wwa | af g wenm W 118

3R Rt s @ s 7 @ R

Wmﬁnmm%lmﬁn '
& HAW WE T g 7

(@) 13K4

®) 43R 1
© 336

(d 633
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13. Consider the following in r.espe’ct,o'f the -

(-1

equation y =
' x-1

1L y=1ifx>1
2 y=-1ifx <1

3. y exists for all values of x

Which of the above statements is/are
. correct ?

(a) 1 only
(b) 2only
(c) 1 and 2 only

@ .1, 2 and 3*

14. If (:+ 1) is the HCF of AP +Bx+C

and Bx? + Ax + C where 4 # B, then the
value of C is

(a 4
®) B
(c) A-B

@ 0

15. The seven digit -number - 876p37q is .

divisible by 225. The values of p and ¢
can be respectively -

@ 9,0
® 0,0
@ 0,5

@ 9,5
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16. If a, b and c satisfy the equation -
X -3 +2x+1=0 then what is the

1 1 1
value of —+—+— ?
a c

(@) -
® 2
© -2

@

N =

17. A and B are two taps which can fill

a tank individually in 10 minutes and
20 minutes respectively. However, there
- is .a leakage at the bottom, which can
empty a filled tank in 40 minutes. If the
tank is empty initially, how much time
will both the taps take to fill the tank
with leakage ?

(a) ‘2mim.1tes"
(b) 4 minutes
(c) 5 minutes
(d)’ 8 minutes
;8. ‘Which one of the follq@ing is cprrect ?
v(a)‘ N2 <46 <4 |
® V2>46>%4
(©) 4/3 < \/5 3
@ %/6 >+2 > %/Z |
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13.

P Y osad

x-1

‘ﬁmﬁ%ﬁvﬁaﬂ?ﬁﬁq

1.y=1uﬁx>1

2. y_=—13%x<1

3.xmﬁwraw~mma%a |
2

aqgmmﬁ%aﬂwm/awé%/% ?
(a) aﬁm
(b) ¥ 2

© mlaﬁtz

S (@d 1,233 |

14,

afe Ax® + Bx+ C 3R Bx* + Ax + C =,
STel A # B, Feaq qATIEdE (x+1) § @
C&Hl A 18 ?

@ 4

15.

® B
(c) A-B

@ 0

AW SR A T 876p37g, 225 W
21 paR ¢F W wAw: T B g
g7

@ 9,0

() 0,5

@ 9,5

16. M a, b3 ¢, TR x° — 3x2+2x+1 =0

aﬁvgea;(é% ar — +b+1 ST/ T

(a) —5_

®) 2

© 2

1
..(d) >

17, 43R B 7w & W @ o A ow-

I R 10 Bz 3R 20 fime # R
Thd € | Wl & a0 & @ B2 &, ;N
W gt Zh w1 40 e @t R awa
2 | Afe Zht arw § @t €, 9 qA A
B Ireft Tt 1 WA | Toree T o 2
(a) 2ﬁ#|z
®) 4 fre.
() 5fme

@ 8Ffme

18. frafifag & & & @1 w wE £ 7

@ vZ<{6<¥3
®) V2>46>34
© %/6<_«/5_<%/Z

@ 46> >0
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19, The value of a single discount on sorie

amount which is equivalent to a series of

discounts of 10%, 20% and 40% on the
same amount, is equal to

(a) 432%

®) 50%

(© 56-/8%
(d) 70%'

20. If k=3c—y+2z ~where -2<x<1,
-1=y<2 and 3 <z <6, then which
‘one of the followir}g is correct ? '
@ 0= k<9
®) 5= k <1l

@ 2
@ 2

/A
IA

k
k

A
A

11

21, The number of pairs (x, y) where x, y

‘are integers satisfying the equatlon
21x+48y=35is

(a) Zero
) One
(©) Two
@ Infinity

. 22. Let x and y be positive integers such
that x is prime and y is composite.

~ Which of the following statements are'

correct ?
1. (y—x) can be an even integer.
- 2. xy can be an even intégér.

3. 0-5(x +y) can be an even integer.

"B-ABVB-O-GPU - A
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~. Select -the correct answer using the

© 23,

code given below :

(a) 1 and 2 only

() 2 and 3 only
(¢) 1 and 3 only

(@ .1, 2 and 3

Let x and y be positive integers such

“that x> y. The expressions 3x +2y and

2x +3y when divided by 5 leave
remainders 2 and 3 respectively. What

is the remamder when (x— y) is d1v1ded
by 5?2 ‘

© "

24,

(b) 2

(c) 1

@ o

In a race 4, B and C take part. 4 beats
B by 30 m, B beats C by 20 m and

A beats C by 48 m. Which of the

following is/ are correct ? ?
-1. The length of the race is 300 m.

2. The speeds of 4, B and C are in
the ratio 50 : 45 : 42.

. Select the correct -answer using the

code given below :

(a) 1 only

() 2only

(c). Both 1 and 2

(d) Neither 1 nor 2 -
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19.

et TfY R o e @ AE AW N I
TR R 10%, 20% 3R 40% hi faafeam -

Y H WER B, WE .

(@) 432%

C®) 0%

20.

- 21.

© 56-8%
@ 70%

uﬁf k=x-—'y+22 |

H T TH WE R ?
@ 0<k<9
® S<k<ll
(c) '2<k<14
@ 25ks11

TG 21x + 48y = Saﬁaggmﬁaﬁ |

T (x,y) H, et x, yiF §, Fen

- ot 27
@

b &

©F

22

@ @

. T R x ARy T TR e
%%xwgﬁymélﬁﬂﬁ%ﬂ

Fot & @ w/F W R/ ?

LoD THIT & HehaT © |

2. xy TF TR W R RN

3. 0-5,(x+y)@wrf$@m% I

2=xs1,

_l'sys23ﬁ'{3$z$6,?ﬁﬁ"?f%ﬁ§'aﬁ

<

(a) Wvl'Sﬁ?Z

(b) had 2 3R 3

© ¥ 1 9K 3
@ 1,283

23

24.

g ﬁﬁyx>y%vl W& FEH 3x + 2y AR
2x+3y & 5@ fwle fFn s

._,!wm 2 3R 3 Ywwd wd E| S
(x— y)ﬁsﬂﬁwﬁa%mmﬁm
_‘«mgﬁm? = '

(@) 4
®) 2
© 1
@ o

T AT H A, BIRCAT N E 1 4,B

WM 3OmTS VR IR, B,CH 20m

2 4, BdRCH W 50:45:4_2%'

%WW%WA CF 48 m 0D K
mém%uﬁmﬁﬁaﬁaﬁam/aaa
R/

1aﬁgaﬁm§300m%l

s # €

ELRCR R R

T2
(a) Fad 1

S () FE2
(@ 13K 2 A

@ adLAR2 |
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25

26.

27.

@ .. =

If the roots of the quadratlc equatlon' ‘

X —4x— log, ;N = 0 are all real, then the
mlmmum value of N is

(a)
(b)

©)

(d 10000
A motor boat, whose speed is 15 km/
hour in still water goes 30 km down-
streami and comes back in a total of
4 hour and 30 minutes. The speed of the
stream is

(a) 4 km/hour

() 5 km/hour

(¢) 6 km/hour

(d 10 km/hour

If 4 men working 4 hours per day for
4 days complete 4 units of work, then
how many units of work will be
cornipleted by 2 men working for 2 hours

‘per day in 2 days ?

(a)’ 2

® 1

N —

©

1
8

B-ABVB-O-GPU - A
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28

29.

30.

iv(a) 42:

(c) 6:

©

(b)

By 1ncreasmg the speed of his car by
15 km/hour, a person covers 300 km
distance by taking an hour less than
before. The original speed of the car
was S

(a) 45 km/hour

50 km/hour
60 km/hour

(d 75 km/hour

If m persons can paint a house in d
days, how many days will it take for
(m+2) persons: to pamt the same'
house ?

() md+2

md—2

‘ m+2

(c)

md

md

@ -m+2

If a:56=3:5 and b:c=.7‘:8, then

2a:3b: 7c is equal to N
105 : 320

15:21: 3._5
15 : 40.

d -30 : 21 : 350-

GET IT ON
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25.

rr%ﬁ;'mamﬁwf 4x - logloN 0F

A AR ?ﬁN’q’ﬁ?{ﬁH‘qﬂﬂ

(@

®

TR ?
1
100

- 1000

1
c) —
(. ) 10000

@ 1000

26.

e, R I R g@ O E

15 km /21 &, & Y {29 7 30 km STt

»_ %aﬁtg»—vrw%aﬁmoﬁﬂzﬁmmﬁf
R %rm?ﬁamw%?

(@) 4 km/ser

®) 5 klh/sizf

(@ 6km/Ea

@ 10 km /52

27.

2w wiafem o o=, 2 ft & Rt

©

T 4 =RE SRR 4R w1 5, 4R

A4 @E FE @ oA 8, @ QAR

THE FE G B4 ?

(a) 2

(®) 1

N | o

(d)

el A

11

28. .QE afe o FR T 15 km/__tia

FFH W 300 km 3 g FI Teel B Fer

.ﬁwmmmﬁmm%lm

ﬁnﬁwwﬁ?
(2) 4_5km/aa_

() 50 km /e

| -(c)'_'so\k:'n/sia

@ 75k

29,

afs e T W AW J R ¥

%, a‘f(m+2)6aﬁﬁu‘raﬁa‘gﬁmﬁ—c

| %ﬁﬁmﬁﬁ?wﬁ?

@) md+2

: _(b) md-2 -

m+2
c L
(© d

md
m+2

d

30. aft a:b=3:5 3R b:c‘=7:8, a
' 2a.:3b:7cﬁ?ﬂaim‘%?

(a) 42: 105‘ : 320
M) 15 ;‘21 135
© 61540 |
(@ 30:21: 350
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31.

@ =

Two trains, one is of 121 m in leﬂgth
at the speed of 40 km/hour and the

 other is of 99 m in length at the speed

of 32 km/hour are running in opposite
directions. In how much time will they
be completely clear from each other

from the moment they meet ?

(@ 10s
®b) 11s
(c) 16s
d 21s
Three athletes run a 4 km race. Their
speeds are in the ratio 16 :15: 11. When
the winner wins the race, then the
distance between the athlete in the

second position to the athlete in the third
position is ' '

(a) 1000 m
(b) 800 m
(c) 750 m

@ 600 m

The sum of first 47 terms of the seties
1 1 1 1 1 1 1 1 1
+=+

(©

B-ABVB-O-GPU - A’

34,

{a) (x+2) is a factor of , |
“ X6+ 120 - 24x + 32
®) (x+2)is a fact’dr,bf |

X6 — 120+ 24x - 32
() (x—2) is a factor of
xt =6+ 127 - 24x + 32

. (d (x-2) is a factor of

3s.

36.

X+ 6 — 1207 + 24x - 32

20% of a number when ac.ided’ to 20
becomes the number itself, then the
number is '

(a) 2Q
® 25
(c) SQ

@ %0

Consider the following statémen@s :

| 1+tan’6 _(1-tan6
" 1+cot?0 \ 1-cotd

2
) is true for

all 0<9<Z g%
2 4

2. coth=—— is true for 0 = 45° only,
tand |

Which of the above statements is/ are
correct ? :

, (a) 1 only

(b) 2 only

.(c) Both 1 and 2

(d) Neither 1 nor 2

GET IT ON
Google Play

Which one of the following is correct ?
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- 31

ai‘wnﬁcrm @ﬁaﬁmélzlm%
40 km/a Fit 9 @ ok @, Frh
T 9 m ¥, 32 km/"er H AW,
e Rt & 51 @ § 1 o frem

34

F & q, ﬁmﬁwﬁé@?@ﬁﬁf
-fg&m%maﬂmﬁ?

(a)‘ 10 s

b s

() 16 s

@ 21s |

. et 4 km A3 Dy & 1 R

32

w1615 1% sua § ¥ | v R

'33.
& uw 479G W ARG TR Y

A s ot &, N g AR e e

| (b)~ x4+6x3‘-—

ﬁw%xf@aﬁ%aﬂwmwﬁ%?
(@ x* _ 6+ 127 — 2x + 32
| HTE PRE (x+2)]
122 + 24x — 32
HT T UAEE (x+2) 8

C©) x—6+ 1227 —24x+ 32 |

N (-2

@ X e’ - 124 +24x-32

33.

1 TF TEEE (x —2) 8

aft et T 3 20% A 20 TP W
ma@mmmﬁ% o T e

am%?

@ 20 |

w oy Ryt 3 v g e 7

() 1000m

(b)) 800m

(c) 750 m

@ ‘600 m

1111 111
g lel 11 1,1, 1,11
2756 4 5624756

(@ 0

: »' ©).

(b) -

@

36.

) 25

(. 50

@ 80 |
e ol fraw e

L 1+ tan?6 (l—tane)z_’mﬁ

1+cot?@ \ 1-cotf

0<6<—2— 9¢”%ﬁmw%l '

#ﬁm'

ER

.-?ﬁﬁmﬁﬁ.aﬁ?m/ﬁﬂﬁ%/%?,

(a) &aa 1
() e 2
(©) 1.3ﬁz’2a=:’i

@ ARLAE?2

13

i

B-ABVB-O-GPU - A

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap

f dda@ﬂ

37 If x acosG and y bcot9 then
(ax™ by )(ax + by Y is equal to

@ o
® 1
© tan’e

(d) sin’@

38, _C0s0

— is equal to (where'@ # E)
1-sind S 2

tanf -1
tanf+1'

()

1+sinB
" cos@ -

(b)

tan@+1

© T

1+cosO
sinQ )

@

©39. If
tan(x + 40)°tan(x + 20)°tan(3x)°tan(70 -
- x0)°an(50 —-x)°=1,
then the value of x is equal to

@ 30

® 20
" © 15

v'(dx 10

B-ABVB-O-GPU - A
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- 40 If 6 is an acute angle and sinBcosf =

14

2cos°0 —1-5c0s0, . then what is sin@

equal to ?
(a)""*/AS_T‘:1

) #

| (c)‘ﬁ“ |
(;i) _3/54+'1  |

- 41. Consider the following statements :

1. sin66}°> is less than c0s66°.
2. sin26° is less than cos26°‘

Which of the above statements 1s/ are
- correct ? -

| (@ 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 no'r 2

42. If a and b are positive, then the relatlon ‘

2a+3b
3b

sin@ =

IS

(a) not possible
(b) possible only if a =5
(© possible if @ > b

(d) possible if a<sp -
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37.

qﬁ;’,x=acose ﬁy bcotd @
(ax”' ~ by Yax ™"+ by )mé:amat% ?

@ o0

FOR

(O a0

| 38 1-sin6

@
e

C©
@

39.

(d si:nzé «

_cos@

(et o ") ok e

tang —1
tang+1

1+sinf .
~ cos@

tan6 +1
tanf — .

"1+cos(9
sin@

zﬁ%l
“tan(x + 40)°tan(x + 20)°tan(3x)°tan(70 -
x)°tan(50 — x)° = 1,-

Fﬁqumw%?_

(@) 30

() 20

©15

@ 10

15

40.

2,

R
L ©
@ -

41.

42.

@

afe o TH Wj?ﬁ"l 2 3R s1n90089—
2cos39— 1 S5cos6, 'c'ﬁ siné ﬁw‘ﬂa? LRI

V541

1. sin66°, cos66° & T & |
2. sin26°, cos26° @ F R |
.Wm‘iﬁaﬁqm/@@%/% o

’(c)"laﬁ'{éa;ﬁ
_(d) Ff?ﬁl aéz

'Iﬂ‘%aaﬁxbm%zﬁwa

<ing = 2a+3b ,
b
(a) ®@wa TS ®-

(b) 7@ @ dwT 2 W= a=b

© m%zﬂ% a'>'b
(@ wa%u& a<b

!
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43.

44. '

. 450
- distance between the two planes is

An aeroplane flying at a height of
3000 m passes vertically above another
aeroplane at an instant when the angles
of elevation of the two planes from
some point on the ground are 60° and
respectively. Then the vertical

(a) 1600(45 —1)m
(b) 1000v3 m

© 1000(3-+3)m |
@ 3000V3m |

A pole is standing erect on the ground
which is horizontal. The tip of the pole is

tied tight with a rope of length /12 m to

a point on the ground. If the rope is
making 30° with the horizontal, then the
height of the pole is

@@ 2V3m -

.(b) 32 m
() 3m

45.

-

(d). 3m |

If tanf + secO = 2, then tan@ is equal to

i

(@)

W

Sl

N | W

©

@

N[ W

B-ABVB-O-GPU - A
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46.

47.

48.

©
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A’s salary was increased by 40% and
then decreased by 20%. On the whole
A’s salary is increased by

(@ 60%
(b) 40%
20%

d 12%

A number consists of two digits, whose
sum is 7. If the digits are reversed, the

. number is increased by 27. The product

of digits of the number is -

@ &

(). 8

© 10

@ 12

In a race of 100 m, 4 beats B by 4m
and 4 beats C by 2 m. By how many
metres (approximately) would C beat B
in another 100 m race assuming C and B

run with their respective speeds as in the
- earlier race ?

(a) 2

®) 204

(©) 208

_(dj 32
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43.

.3000ma?f mwmgm T&F g

“ter foet qER g oo™ & SR W

q I @O AT € 9 Ol EAE SE

- e ¥ Rt forg A wEw: 60° 3R 45°

(a) 1000(@ —1)m

44.

®) 1OOOJ§m, |

© 1009(3—«5) m

(@ 3000/3m

@Wéﬁamwﬁm@@% @

T i 12 m T U R aaa

& frt forg & fe o i T 2 |

T, é‘%ﬁrﬁsmmaﬁwam@%

a‘raﬁaﬁﬁﬁw%? |

(a) 2«/—m _
(b) 3ﬁm

() 3m

45.

)

@

@ V3m

zr%tan9+sece 2, ?ﬁtane ﬁ?ﬂ%auat
27 '

©

Nk Nw Al bW

@

17

46

Aasraaam%aamw 3R R 20%
WWl%WAWaHHW

F@ 2

F IO H0 W) 8, O T g9 e |
F A A el @ R |

47.

@) 60%

®) 40%

(©) 20%

@ 12%

O X .G g S

78| afk I F E WeR weq R

wrd o wen # 27 1 3y | St # )

HEN & SR KO TR 7

- (@ 6

- 48.

® 8

' (c) 10

@ 12 »

100 m 6 T e 3, 4, BF 4mD
DRAT R AR A, CH 2 m WS Bigar B |

fret a1 100 m Y Qg A, ¥® WA

- f% 3R Bag I W@ A A=A & A

el Qg | o, CBa?tﬁTa%tﬁawm

& gnm

(@ 2
(b) 204

(c) 208

@ 32
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49. In an election 10% of the voters on the

voter list did not cast their vote and
60 voters cast their ballot papers blank.
There were only two candidates. The

winner was supported by 47% of total
voters m the voter list and he got 308

votes more than his rival. The number of
voters on the voter list is- '

‘(a) 3600
() 6200
(c) 6028

(d) 6400

50. Consider all positive two digit numbers
each of which when divided by 7 leaves
a remainder 3. What is their sum ?
(a) 661
" (b) 666
©) 676 .

@ 777

51, A pipe with square cross-section is

supplying water 10 a cistern which was
initially empty. The area of cross-section
is 4 cm® and the nozzle velocity of water
is 40 m/s. The dimensions of the cistern
are 10m x 8 m x 6 m. Then the cistern
will be full in |

- (a) 9 5 hours .
(b) 9 hours |
(c) 8 hours 20 minutes
(d) - 8 hours

B-ABVB-O-GPU - A
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52. A hollow cylindrical drum has internal
diameter of 30.cm and a height of 1 m. ‘
What is the maximum number of
cylindrical boxes of diameter 10 cm and
height 10 cm each that can be packed in
the drum ? '

(a) 60‘
®) 70
@ 50

(d) 90

53. The speeds of three buses are 'in -the
ratio 2:3: 4. The time taken by these
buses to travel the same distance will be

" in the ratio

" (a ‘.2':3:4
| (b) 4:3:2
'(c)_ 4:3:6

. d 6:4:3

S4. A square and an equilateral triangle have
‘equal perimeter. If the diagonal of the
square is 1245 cm, then the area of the
triangle is

- (a)i 242 ‘om?
() 2443 cm?
(c)- 483 cm?

@ 64J§ cm?
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%@wﬁﬂm@%w%maﬁ. |

X G WG A S AR 60 FagEE X
AR HAEAT & Wl org fear | Fee @

- SwieER | fodtar ot waem g & 5

HACTAT3 & 47% o1 qrAA frem sk S

Fo TR ¥ 308 W e WW BT |

m@ﬁmﬁa’ﬁw%ﬁf

?°?

- (a) 3600
(b) 6200

() 6028

(@ 6400

- 50.

aﬁaﬁeﬁw’aﬁwme’ﬁ'q\t
fmr A, fm & @ s #® 7R

 Frifir Y R A 38 | IR AR
_W%?, . .

(@ 661

S1.

(b) 666
() 676

A 777

53

3§, o R oy o @ren 9, ae @Y

i aar R | orgwed R8T W AR
4cm’ ® AR UMl & gE An (A

JAMIA) 40 m/s & | & At fammd

10mx8mx6m © | o I8 ¢ feam
g # A ?

(a) 9-5 =T

(b) 9
(c) 8 ®er 20 fFme
@ 8%

19

52.

@mm@mmﬁ%ﬁm -
30cm3ﬁ(W§1m%|$ﬁa$10cm3ﬂTH :

3R 10 cm AT AR AAATEHR FHET b,
sﬁr%gﬂﬁt@mm% a&wm
?ﬂn%?

(@ 60

b 70

(¢) 80

- (d) 90.'

i BT 203 4% o A E

= Sl GRT EHA G 9T A | M A1l

'wﬁaa@mﬁm?

(a) 2:3:4

(b)y 4:3:2

| (c) 4:3:6

54,
a2 | afe @t # el 1242 cm ®,

(@d) 6:4:3

o AR o W P O
R P w1 A T R 2

(a) 242 cm® |

® 24@ o’

" (c) 483 cm’

(d) 64«/3 cm?
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56.

55. A boy is cychng such that the wheels

of the cycle are making 140 revolutions
per minute. If the radius of the wheel is
30 ¢m, the speed of the cycle is

@

®) 1584 km/hour

z

15-5 km/hour

' (¢) 16 km/hour .

(d 16:36 km/hour

There are 437 fruit plants in an orchard
planted in rows. The distance between

any- two adjacent rows is 2m and the

distance “between any two adjacent
plants is 2 m. Each row has the same
number of plants.- There is 1 m clearance
on all sides of the orchard. What is the

Rs. 100 per metre ?

‘(@) Rs. 15,600

(b) Rs. 16,800

(c) Rs.18200

' (d)'; More information is required |

57.

B-ABVB-O-GPU - A

ABCD is a parallelogram with 4B and.>
AD as adjacent sides. If £4 =60° and

AB = 24D, then the dlagonal BD will be
equal to _

(a) \EAD
® 34D

(¢) 24D

@ 0

20

58.
~sides of a triangle ABC. Consider the

The péint O is éqﬁidistant from the three
following statements :

I ZOAC + LOCB+ £OBA =90°

2. ZBOC=2/BAC

3. The perpendiculars drawn from ahy
~ point on O4 to AB and AC are
- always equal

" Which of the above statements are

59.

correct ?

(@) 1 and 2 only

(b) 2 and 3 only
(c) 1and 3 only

. (@ 1,2and3

‘ Consider the following statements :

I If the height of a cylinder is
~ doubled, the area of the curved
surface is doubled.

2. If ‘the radius of a hemispherical
solid is doubled, its total surface
area-becomes fourfold.

Which of the above statements is/are
correct ? '

(a) 1only

() 2 only |

(c) Both'1 and 2

(d) Neither 1 nor 2

GET IT ON
— Google Play
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“qEfEa & ufed 140 whe why fime R

. aﬂﬁ%lwféq%ﬁaﬁﬁm 30cm% Fﬁ
v#ﬁ%ﬁtﬁwa@m%? »

(a) 155 km /%=1
(b) 1584 km‘/ﬂ'ahff
(©) 16 km /¥
@ .16736 km /%7
6. T W H 437w % N et &
| Fed @ Pt e
& H g0 2 m 3R Foreet ) Frreread! et
% e R @ 2m | o i et
& T TET ® | W F Wi WE 1 m

T 3 ® | % 100 TR AR A K 4,
T & W S8 A Y HHT F9T BRI 7

(@) T 15600
| (t;)'a. 16,800
L © T 18200 |
- (d) ftrs guRT R EEEar @
§7. ABCD TF iR g 2 et 4B
| 3R AD G ¥od € | e 24 = 60° oK
AB=24D, @ fawwi BD fred waex
o
(@) V24D
®) V34D
© 24D

| ) 34D
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58. ﬁ'@OQEBﬁWABC?ﬁ?ﬁ?ﬁ'{{WGﬁﬁ

W%lﬁmﬁ%ammﬁw

1. LOAC + LOCB + ZLOBA = 90°

2. ZBOC=2/BAC |

3. AB3R ACWR OA%%ﬁﬁg%aﬁ'
T T weE W R

| m’iﬁmﬁﬁﬂw/ﬁv@%/%?
‘(a)%h‘cﬁvrlélﬁi2

) ésa_—«rzaﬁzs, :

59,

© F1dR3

--(ci) 1,23R3 .

ﬁwﬁﬁaaﬁmﬁaﬁﬁﬁn:

R G ATRIE AT R
il A Eﬁﬂ%gﬁaﬂéﬂwaﬂm |
w R ) |
2.t o B oy B <
$ TR 2, D T I I8 S
IR TR SR

w@wmﬁﬁﬁ-ﬁﬁm/@#@%/i? ‘

(a) ¥ 1 | | |

O FE2

| (©) mﬁzzaﬁ

@ H?ﬁl?‘éTZ
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60. A large water tank has the shape of a 63 Water is filled in a container in such a

61.

62.

cube. If 128 m® of water is pumped out,
the water level goes down by 2 m. Then
the maximum capacity of the tank is

manner that its volume doubles every
5 minutes. If it takes 30 minutes for the
container to be full, in how much time
will it be one-fourth full ?

(@) 512 m’

- : (@) 7-5 minutes
480 m’*

(®) 48 ® 15 minutes
24 m’

© 324m (c) 20 minutes

(d 256 m’

The circumference of a circle is 100 cm.
The side of the square inscribed in the
circle is

From the solid -gold in the form of a
cube of side length 1 cm, spherical solid
balls each having the surface area

(@) 17-5 minutes

64. 30 metallic cylinders of same size are
melted and cast in the form of cones
having the same radius and height as
those of the cylmders '

(@) 5042 cm )
: Consider the following statements : -
. . 100 | L
®) 7 Statement I : A maximum of 90 cones
will be obtained.
@) M cm Statement IT : The curved surface of the
/4 cylinder can be flattened
in the shape of a rectangle
100V2 but the curved surface of
@ - cm the cone when flattened

has the shape of triangle,

Which one of the following is correct in
respect of the -above ?

Both Statement I and Statement 11

71 (a)
em’” are to be made. Assuming that ~* are correct and Statement-II is the .
there is no loss of the material in the . oy ’
. correct explanation of Statement 1
process of making the balls, the- v v .
maximum number of balls made will be (b) Both Statement I and Statement II
- ' are correct and Statement II is not
) @ 3 the correct explanation of Statement I
‘ b 4 (c) Statement I is correct but State-
'r : ' ment II is not correct
| (c) 6
d Statement I is not correct but
" (d) 9

B-ABVB-O-GPU - A 2

Statement II is -correct
_ . :
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STIAT @, A Y BT &R 2 m A Tl STt
g R sfiman e w7

(@ 512m’® ;

() 480 m*

(c) 324-m3_

: (d). 256 _r_n3 '
61 TF 39 9RRr 100em ® | o, § T
o i Yy o A e

(a) 5042 cm

100

b =Eom
b N 7[
5042

— Cm

b4

(©)

100V2

cm
T .

@

© 62. 1 cmdis ST F U F AR F 3 WY
‘ | 3 MaeR i, e sds @ s
8% 7' em? B, AT E | TR AEE
g & W T fit @ ufen § aw Hi
\ HEAT T RN ?
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\ )4
' © 6

D9
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63.

64
2 3R Sod Fi Bem ok I §F TR
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6 v 5 e # swo smae Qg |
s | af Ry A g W § 30 e
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WRTE ?

(@) 7.5 Rz
®) 15 fre
© 20 fire
@ 175 firz
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. mnaﬁa:rlﬁaéwaﬁ
2 v

(c)mla@%‘v’fﬁmwnaﬁ

wE ?

-(d)aamla-eﬁﬂé}%ﬁﬁmmn
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65. An equilateral triangle BOC is drawn
inside a square ABCD. If angle
AOD = 20, what is tan6 equal to ?

@ 2-43
® 1+2
© 443
@ 2+«/§ 

66. The diameter of a wheel. that makes
452 revolutions to move 2 km and
26 decametre is equal to

. .(a)' 12 m
() 1 m |
©, 23 m
A(d)! 2l m

67. If X is. any point within a square ABCD
and on AX a square AXYZ is described,
which of the following is/are correct ?

1. BX=DZ or BZ=DX

2. ZABX=/ADZ or ZADX = £LABZ

Select the correct answer using the

code given below :

- (@) 1 only |
(b) 2 only
(¢) Both 1 and 2
(d) Neither 1 nor 2

B-ABVB-O-GPU - A
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The two adjacent sides of a cyclic
quadrilateral are 2 cm and 5 cm and the

~ angle between them is 60°. If the third

69.

side is 3 ¢cm, then the fourth side is of

length

(a 2 cm

(b) 3 cm

(c) 4cm

@ 5 cm

Let A denote the set of quadrilaterals
having two diagonals equal and bisecting
each other. Let B denote the set of

quadrilaterals having diagonals bisecting
each other at 90°. Then 4NB denotes

(@) the set of parallelograms
(b) the set of rhombuses

(c) the set of squares =

~(d) the set of rectangles

70.

A square is inscribed in a right triangle -
with legs x and y and has common right
angle with the triangle. The perimeter of
the square is given by ‘

(a) ,
x+y
) 22
x+y
2xy
© =
@ 4xy
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65

@

- 66.

67.

(b)

i‘

. U% WHETg B BOC @ W ABCD

& o ymfea B s &1 ok
AOD =26, @ tand fored =R & ?

243
1+42
4-43
2+43

(@)

(©)

T ufd @1, 9 f5 2 km 3R 26%‘@4’12?
aaﬁﬁ452qﬁamwm% = AT ?

9
(a) I-Zi m

® 13

m
(©) 21—51 m

@ 2L m

XﬁABCD%WHﬁ%%ﬁ%Sﬁ?AX

R T 9 AXYZ % Trafor fear sman 2 |

| ﬁw&rﬁaaﬁﬁaﬁ:rm/ﬁﬁ%/%?

1. BX= DZTJTBZ DX

2 ZABX'= ZADZ?IT LADX = ZABZ

,ﬁ%ﬁﬁﬁ@z,mm»m-aﬁm

@ ¥ 1

(b) ér«mz |
© 13R239%

@ AW, TR
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" 71. From a rectangular sheet of sides 18 cm
and 14 cm, a semicircular portion with
smaller side as diameter is taken out.

Then the area of the remaining sheet

 will be
(@) 98 cm’?
() 100 cm’

(¢©) 108 cm*

@ 175 cm?
72.

AD are increased by 20%, then the area
of the resulting rectangle exceeds the
‘area of the square by

@ 50%

b) 52%

©) 54%

(@ 56%

. A Water tank, open at the top, is hemi-
spherical at the bottom and cylindrical
~above it. The radius is 12m and the
capacity is 3312x m’. The ratio of the

surface areas of the sphencal and
cylindrical portlons is

73

'I(a)'_ 3:5
(b)_- 4:5
c) 1:1

@ 65

B-ABVB-O-GPU - A

ABCD is a square. If the_sides AB and
CD are increased by 30%, sides BC and -

26

74.

75.
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‘The ‘areas of three mutually perpendi-

cular faces of a cuboid are x, y, z. If
V is the volume, then xyz is equal to

(a Vv

®

() 2V
@ 21
Let V be the VOlumé of an inverted cone

with vertex at origin and the axis of the
cone is along positive y-axis. The cone is

filled with water up to half of its height. -

The volume of water 1s

v
@
@ 3
4

6

' V
c pa—
© 3
v
d =
@. 3

- Three récta_ngles R, R, and R, have the

76.

same area. Their lengths x,, x, ‘and x3 _

" respectively are such that x; < x, <ux,.
If v, V, and V, are the volumes of

- the cylinders formed from the rectangles

‘R,, R, and R, respectively by joining the

parallel s1des along the breadth, then
which one of the followmg is correct ?

@
®)
©
G

‘V3'_< ‘Vz < V1
V<V, <V,
Vi<V, <V,

V3< Vl <V2
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72.

(a) 98 cm’

-(b) 100_- cm

(c) 108 cm?

@ 175 em®*

ABCDH i # | af} qemsit AB ik CD

# 30% 3fg & s, sEmat BC SR AD

# 20% 3fg A Sy, @t aRomd s W=

- g w3 e @ R arferes gvm 7

@) 50%

() 52%

©) 54%

(). 56%

K

TR R TR A g G, ARy

FfMT B 3R IR A JoER 2 | g
= 12mR ok e 33127 B R )

o wmm%@%maﬁm

mﬁmw%?‘

(a) 3:5 

‘(b)~'4:5

- (©) 1-:1

@ 6:5
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75.

® v
(c) 2V -

(d) 2V2
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78.

77.

(@

If the surface area of a cube is 13254 cm?,
then the length of its diagonal is

(a) 444/2 ¢m
(b)

©

44J§ cm
47«/5 cm

47«/3 cm

<

The area of a trapezium is 336 cm’. If

its parallel sides are in the ratio 5: 7 and
the perpendicular distance between them
is 14 ¢cm, then the smaller of the parallel
sides is

(a) 20 cm

®) 22cm v

(c) 24 cm

- (d) 26 cm

79.

80.

How many spherical bullets each of
4 cm in diameter can be made out of a

cube of lead whose edge is 44 cm ?

@) 2541

(b) 2551

(c) 2561
(@ 2571

A river 2-5m deep and 45m wide is
flowing at the speed of 3-6 km/hour.

. The amount of water that runs into the

sea per minute is -
(8) 6650 m’
(b) 6750 m’
(é) 6850 m’
d) 6950 m’

B-ABVB-O—GPU -A

28

81.

A _ M B

AB is a line segment of length 2a, with
M as mid-point. Semicircles are drawn
on one side with AM, MB and AB as
diameter as shown in the above figure.
A circle.with centre O -and radius r is
drawn such that this circle touches all
the three semicircles. The value of 7 is

©3
® % :
© 3
@ % :

(3)
®

From an external point P tangents PA
and PB are drawn to the circle as
shown in the above figure. CD is the
tangent to the circle at E. If AP =16 cm,
then the perimeter of the tnangle PCD is
equal to

24 cm
28 cm
30 'cr_nr
32 cm

©
@

GET IT ON
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qﬁ@ﬂﬂﬁ‘{ﬁﬂ&ﬁmlﬂﬂcﬁé
% aﬁwﬂ:ﬁmfaﬁaaﬁw%?
(a) .44\/5 cm

(b) 44«/§_cm

(c) 47«/—2— cm

(d) 4743, ecm
@WWW336cmZ%IU&3?ﬁ
FHIER G 52 7 % argama # ¥ oK o
9 R agEs g 14cm B, A aWRR
gmaﬁﬁ%ﬁ-aamaﬁwéw%v

(@ 20 cm -

(b 22 cm
' (¢) 24 cm

(d) 26 cm

79.

m%@'ﬂﬁﬁ ﬁ!’ﬂﬁ%ﬂﬁ%cm%
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83.

In the above figure, ABCD is a parallelo-
gram. P is a point on BC such that

 PB:PC=1:2. DP and AB when both - .

produced meet at Q. If area of triangle
BPQ is 20 square unit, the area of

triangle DCP is

(a) 20 square unit

(b) 30 square unit
| (c) 40 ‘squ_are unit

(d) None of the above

84.
a circle at right angle at a point P in the
ratio 1: 2. If diameter of circle is 4, then
CD is equal to ‘

(a) @

(b)

(©)

24/3d

@ 3

B-ABVB-O-GPU - A

Chord CD intersects the diameter AB of - -

30

87.

85. A circle of radius r is inscribed in a
- regular polygon with n sides (the circle
touches all sides of the polygon). If the

~ perimeter of the polygon is p, then the
area of the polygon is .

@ (p+nyr
® @p-nyr

vﬂv
© =

d) None of the above

The LCM of two numbers is 12 times
their HCF. The sum of HCF and LCM
is 403. If one of the numbers is 93, then
the other number is

86.

(a) ‘124
() 128
() 134

@ 138

The value of (0-6—3-+O-3—7—) is |
@ 1
100
® 91

100

B

~ 1000
d) —=
. @. 999
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88.

-

A sum of Rs. 10,000 is dep031ted for
1 year at the rate of interest 10% com-

_pounded half 'yearly. What will be the R

interest at the end of one year ?

(a) Rs. 1000

" (b) Rs.1025

89.

(c) Rs.1050

(d). Rs.1100

In a mixture of milk and water -of
volume 30 litre, the ratio of milk and

water is 7 : 3. The quantity of water to -

" be added to the mixture to make the .
* ratio of milk and water 1 : 2 is

90.

(@) 30

() 32

(c) 33
@ 35

The difference of maximum values
of the expressions (6+ S5x—x*) and
(y—-6-~ %) for any real values of x and
yis :

(@ 16

®) 17

() 18

91.

@ 19

A clock' is started at noon. By 10 miﬁutes

past 5, through what angle, the hour hand -
moves ?

(a) 160°

(b) 145°
() 150°

@) 155°

B-ABVB-O-GPU - A
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'92.  The minimum value of .

93.

9.

@ 2

The value of

| 3200t2(ﬁ).— SS.ecz(E) +‘800§3(£) :
. \4) - \3/) 6/
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@ 33
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95 How many right angled trxangles can be 98 Ifa vanable takes discrete values a + 4,
formed by joining the vertlces ofa -~ g-35, a-25, a-3, a-2, a+05,
cub01d ? _ o : ' a+5 and.a - 0-5 where a > 0, then the

‘ ' ‘ median of the data set is
(2) 24 . |
| _ . N | @ a-25 .,
k 28
_ ®) ‘ ®) a-125
(c) 32 | © a-15
(d) None of the above d a-075

96. The average weight of students in a 99. If each of 7 numbers x=i(i=1,23,
class is 43 kg. Four new students are ~ ...n) is replaced by (, +1) xl, then the
admitted to the class whose weights . new mean is
are 42 kg, 36-5 kg, 39 kg and 42-5 kg
respectively. Now the average weight. of _ 43

. the students of the class is 42:5 kg. The : (@) "
| number of students in the beginning was 2
. : - 2
®) 15 o
: | | (¢) (n+1)(n+2)
() 20 A o 3n
@ 25 | @ rber2)
. » 3
» 97. Four years ago, the average age of : . ) ) ) o

- A and B was 18 years. Now the 100. The weighted arithmetic mean of first
‘average age of 4, B and C is 24 years. 10 natural numbers whose weights are
After 8 years, the age of C will be . - equal to the corresponding numbers. is

' equal to
(a) 32 years | (5) 7
(b) 28 years ) 1-'4
(c) 36 years - (c) 35
(d) 40 years : : (@ 385"
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